€1, Bonﬁglloll

ever Forward

Mosaico Configuration Data

Date: 06.06.19

Designation: MP 130 1 6 STD 130A CD 24 S5 VB SB KE

GETRIEBE MP

GETRIEBETYP: MP
GETRIEBEBAUGROSSE: 130
UNTERSETZUNGSSTUFEN: 1
UBERSETZUNG: 6
WINKELSPIEL: STD
EINGANGSSEKTION: 130A
KEYING KURBELWELLE: CD
LOCH. ANTRIEMSWELLE: 24
ART DER SERVICE: S5
EINBAULAGEN: VB
MONTAGE WELLE: SB

WELLENANORDNUNG: KE

TECHNISCHE DATEN

Mn2 Ausg.- Nenndrehm. [N/m]: 380

MaZ2 ausg.max.Beschleunig. [Nm]: 600
Mp2 Ausg.Not-Halt-Drehm. [Nm]: 1100
nl Eingabegeschwindig. [min-1]: 2900
nilmax max.mom.Eingabege[min-1]: 3500
@S Winkelspiel STD [arcmin]: 15’

@R Winkelspiel NIEDRIG[arcmin]: 10'



Ct Torsionssteifi. [Nm/arcmin]: 43.0
R1max Radialkr.Einga.zuldss[N]: 800
R2max max.rd.Kr.die Wel.wir[N]: 5500
AZ2max max.Axia.die wel.wkr [N]: 6500
n[%]: 97

Schmiermittel: GE 46-1200

DOCUMENTATION

http://www.bonfigliolidocslibrary.com/



GETRIEBEBAUGROSSE: 130

TR 130

. M2

i i MP 1301 | 120

] MP1302 | 155

- & MP1303 | 18.5

1102008 200 L35 1102008
2, . 20
NS 5

i .Y

+H MP 1301 | 120

l MP1302 | 155

! MP1303 | 185

@ N1

ff‘"?“" n{@ NNt | N2 | Ns | Na | s

e i max
e

55A1 14 |15875| 16 |19 | - | = | = | = | = | = | 555 | 1257 | 130 4 M6x15 | 395 | 50
80A2 14 |15875| 16 |19 | - | = | = | - | = | - 80 | 100 | 130 a4 M6x15 | 395 | 50
95A1 14 |15875| 16 | 19 | 22 | 24 | - | - | = | - 95 | 115 | 130 4 M8x20 | 395 | 50
110A1 | 14 |15875| 16 | 19 | 22 | 24 | - | = | = | - | 1120 | 130 | 130 4 M8x20 | 395 | 50
110B1 | 14 |15875| 16 [ 19 | 22 | 24 | - [ - | = | —= | 110 | 145 | 130 | 65 | Msx20 | 495 | 60
114A0 | 14 |15875| 16 | 19 | 22 | 24 | — | = | = | - |1143]| 200 | 170 | 55 | M12x25 | 395 | 50
114A 14 |15875| 16 | 19 | 22 | 24 | 28 | 32 | 35 | 38 | 1143 | 200 | 170 | 55 | M12x25 | 695 | 80
130A 14 |15875| 16 | 19 | 22 | 24 | - | = | = | - | 130 | 165 | 140 M10x20 | 39.5 | 50
130A1 | 14 |15875| 16 | 19 | 22 | 24 | 28 | 32 | - | - | 130 | 165 | 140 M10x20 | 495 | 60
180A 14 |15875| 16 | 19 | 22 | 24 | 28 [ 32 | — | — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 | 14 [15875]| 16 | 19 | 22 | 24 | 28 | 32 [ 35 [ 38 | 180 | 215 | 190 | 55 | m14x25 | 695 | 80

Please contact us for other motor adapters and input shaft bore.

FM




D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
4 16 48 113 125.5 M8x15 M6 40 275 6 20 14.5
19 51 113 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 1255 M8x15 M8 41 28.5 6 19.5 245
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 775 113 1255 M8x15 M8 50 375 11.25 26 28
3
' 07
215 | 400 [ 800 | 2100 | 3000 | 15 10' 43.0 800 [ 5500 | 6500 | 97 5.25 5.46 5.81 7.16
380 [ 600 [ 1100 2400 | 3500 | 15 10' 43.0 800 [ 5500 | 6500 | 97 3.06 3.26 3.61 4.97
380 | 600 [ 1100 2900 | 3500 | 15' 10 43.0 800 | 5500 | 6500 | 97 2.22 2.42 2.77 4.13
380 [ 600 [ 1100 2900 | 3500 | 15' 10' 43.0 800 [ 5500 | 6500 | 97 1.19 1.40 1.75 3.10
380 | 600 [ 1100 ] 3200 | 4000 | 15' 10 43.0 800 | 5500 | 6500 | 97 1.47 1.68 2.03 3.38
215 | 400 [ 800 | 3200 | 4000 | 15 10' 43.0 800 [ 5500 | 6500 | 97 1.04 1.25 1.60 2.95
215 | 400 800 | 2100 | 3000 | 15" 10 37.5 800 | 5500 | 6500 | 94 4.82 5.02 5.37 6.72
450 | 700 | 1300 2100 | 3000 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 4.57 4.78 5.13 6.48
450 | 700 | 1300 2100 | 3000 | 15' 10 37.5 800 | 5500 | 6500 | 94 4.48 4.69 5.04 6.39
450 | 700 | 1300 | 2400 | 3500 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 2.67 2.88 3.23 4.58
450 | 700 | 1300 | 2900 | 3500 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 1.97 2.18 2.53 3.88
450 | 700 | 1300 | 2900 | 3500 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 1.94 2.15 2.50 3.85
450 | 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 1.34 1.55 1.90 3.25
215 | 400 [ 800 | 3200 | 4000 | 15 10' 37.5 800 [ 5500 | 6500 | 94 1.00 1.21 1.56 2.91
450 | 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 1.33 1.53 1.88 3.24
380 [ 600 [ 1100 2900 | 3500 | 15 10' 37.5 800 [ 5500 | 6500 | 94 1.05 1.26 1.61 2.96
450 | 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 0.98 1.19 1.54 2.89
450 | 700 | 1300 | 3200 | 4000 | 15' 10 37.5 800 | 5500 | 6500 | 94 0.97 1.18 1.53 2.88
450 | 700 | 1300 | 3200 | 4000 | 15' 10' 37.5 800 [ 5500 | 6500 | 94 0.96 1.17 1.52 2.87
215 [ 400 [ 800 | 3200 | 4000 | 15 10' 37.5 800 [ 5500 | 6500 | 94 0.96 1.17 1.52 2.87
450 | 700 | 1300 | 2400 | 3500 | 17" 12' 29.5 800 [ 5500 | 6500 91 2.77 2.98 3.33 4.68
450 | 700 | 1300 { 2400 | 3500 { 17’ 12' 29.5 800 | 5500 ] 6500 | 91 2.65 2.86 3.21 4.56
450 | 700 | 1300 | 2900 | 3500 | 17" 12' 29.5 800 [ 5500 | 6500 91 2.03 2.24 2.59 3.94
450 | 700 | 1300 { 2400 | 3500 17’ 12" 29.5 800 | 5500 | 6500 | 91 2.65 2.85 3.20 4.56
450 | 700 | 1300 | 3200 | 4000 | 17' 12' 29.5 800 [ 5500 | 6500 | 91 1.37 1.58 1.93 3.28
215 | 400 [ 800 | 3200 | 4000 | 17 12' 29.5 800 [ 5500 | 6500 | 91 1.00 1.20 1.55 2.91
450 | 700 | 1300 | 3200 | 4000 | 17' 12' 29.5 800 [ 5500 | 6500 | 91 0.99 1.20 1.55 2.90
450 | 700 | 1300 | 2900 | 3500 | 17" 12' 29.5 800 [ 5500 | 6500 | 91 1.93 2.13 2.48 3.84
450 | 700 | 1300 | 3200 | 4000 | 17' 12' 29.5 800 [ 5500 | 6500 91 1.34 1.54 1.89 3.25
450 | 700 | 1300 | 3200 | 4000 | 17 12' 29.5 800 [ 5500 | 6500 | 91 0.99 1.20 1.55 2.90
450 | 700 | 1300 | 3200 | 4000 | 17' 12' 29.5 800 [ 5500 | 6500 | 91 0.98 1.18 1.53 2.89
450 | 700 | 1300 | 3200 | 4000 | 17 12' 29.5 800 [ 5500 | 6500 | 91 1.32 1.53 1.88 3.23
450 | 700 | 1300 | 3200 | 4000 | 17' 12' 29.5 800 [ 5500 | 6500 | 91 0.97 1.18 1.53 2.88
450 | 700 | 1300 | 3200 | 4000 | 17 12' 29.5 800 [ 5500 | 6500 91 0.99 1.20 1.55 2.90
450 | 700 | 1300 { 2900 | 3500 17’ 12' 29.5 800 | 5500 | 6500 | 91 1.05 1.26 1.61 2.96
450 | 700 | 1300 | 3200 | 4000 | 17" 12' 29.5 800 [ 5500 | 6500 91 0.97 1.18 1.53 2.88
450 | 700 | 1300 { 3200 | 4000 | 17’ 12' 29.5 800 | 5500 | 6500 ] 91 0.96 1.17 1.52 2.87
450 | 700 | 1300 | 3200 | 4000 | 17 12' 29.5 800 [ 5500 | 6500 91 0.96 1.17 1.52 2.87
450 | 700 | 1300 { 3200 | 4000 | 17’ 12 29.5 800 | 5500 | 6500 | 91 0.96 1.17 1.52 2.87
450 | 700 | 1300 | 3200 | 4000 | 17 12' 29.5 800 [ 5500 | 6500 | 91 0.96 1.17 1.52 2.87
450 | 700 | 1300 3200 | 4000 | 17’ 12" 29.5 800 | 5500 | 6500 | 91 0.96 1.17 1.52 2.87
215 | 400 [ 800 | 3200 | 4000 | 17' 12' 29.5 800 [ 5500 | 6500| 91 0.96 1.17 1.52 2.87




MP G 130

55A1 ... 180A1

[Ty]
=
Iq
e i
MPG1302 | 16.0
-2 MPG1303 | 155
MPG1304 | 225
:@ N NL | N2 N3 N4 N5
| - max
14 |15.875| 16 19 - - - - — — 55,5 | 125.7 | 130 4 M6x15 39.5 50
14 [15.875| 16 | 19 | - - - - - - 80 100 | 130 4 M6x15 | 39.5 50
14 |15.875| 16 19 22 24 - - — — 95 115 130 4 M8x20 39.5 50
14 [15.875| 16 | 19 | 22 | 24 | - - - - 110 | 130 | 130 4 M8x20 | 39.5 50
14 |15.875| 16 19 22 24 - - - - 110 145 130 6.5 M8x20 49.5 60
14 [15.875| 16 | 19 | 22 | 24 | - - - — | 1143 | 200 | 170 | 55 | M12x25 | 39.5 50
14 |15.875| 16 19 22 24 28 32 35 38 [ 114.3 | 200 170 5.5 M12x25 | 69.5 80
14 [15.875| 16 | 19 | 22 | 24 | - - - - 130 | 165 | 140 M10x20 | 39.5 50
14 |15.875| 16 19 22 24 28 32 - - 130 165 140 M10x20 | 49.5 60
14 [15.875| 16 | 19 | 22 | 24 | 28 | 32 | - - 180 | 215 | 190 | 55 | M14x25 | 495 60
14 |15.875| 16 19 22 24 28 32 35 38 180 215 190 55 M14x25 | 69.5 80
Please contact us for other motor adapters and input shaft bore.
View from ﬂ‘

FM




D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 16 48 113 125.5 M8x15 M6 40 27.5 6 20 14.5
19 51 113 1255 | M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 M8x15 M6 41 28.5 6 19.5 19
28 67 113 1255 M8x15 M8 41 285 6 19.5 22.5
32 71 113 1255 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 77.5 113 1255 M8x15 M8 50 375 11.25 26 28
=y
,---\‘F:'t [
5 )1 S
3 o
215 | 400 | 800 | 2100|3000 ]| 15' | 10' 43.0 | 5500 | 6500 | 94 7.09 7.28 7.66 10.37
380 | 600 | 1100 | 2400 | 3500 | 15' | 10' 43.0 | 5500 | 6500 | 94 4.90 5.08 5.46 8.18
380 | 600 | 1100 | 2900 | 3500 | 15' | 10 43.0 | 5500 | 6500 | 94 4.81 4.99 5.38 8.10
380 | 600 | 1100 | 2900 | 3500 | 15' | 10' 43.0 | 5500 | 6500 | 94 4.45 4.64 5.03 7.73
380 | 600 | 1100 | 3200 | 4000 | 15' | 10' 43.0 | 5500 | 6500 | 94 4.73 4.92 5.31 8.01
215 | 400 | 800 [ 3200|4000 15' | 10' 43.0 5500 | 6500 | 94 4.68 4.88 5.26 7.97
215 | 400 | 800 | 2100|3000 ]| 15' | 10' 37.5 [ 5500 [ 6500 | 91 6.66 6.84 7.22 9.93
450 | 700 | 1300 | 2100 [ 3000 | 15' | 10 37.5 5500 | 6500 [ 91 6.25 6.45 6.84 9.54
450 | 700 | 1300 | 2100 ) 3000 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 6.25 6.44 6.83 9.53
450 | 700 | 1300 | 2400 [ 3500 | 15' | 10 37.5 5500 | 6500 [ 91 4.51 4.70 5.08 7.79
450 | 700 | 1300 | 2900 | 3500 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 4.56 5.36 5.75 8.45
450 | 700 | 1300 | 2900 | 3500 | 15' | 10 37.5 5500 | 6500 [ 91 5.13 4.72 5.11 7.82
450 | 700 | 1300 | 3200 | 4000 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 4.60 4.79 5.18 7.88
215 | 400 | 800 |3200 | 4000 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 4.64 4.84 5.22 7.93
450 | 700 | 1300 | 3200 | 4000 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 4.92 5.10 5.49 8.20
380 | 600 | 1100 | 2900 | 3500 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 4.31 4.50 4.89 7.59
450 | 700 | 1300 | 3200 | 4000 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 4.77 4.96 5.35 8.05
450 | 700 | 1300 | 3200 | 4000 | 15' | 10 37.5 [ 5500 [ 6500 | 91 4.76 4.96 5.34 8.05
450 | 700 | 1300 | 3200 | 4000 | 15' | 10' 37.5 [ 5500 [ 6500 | 91 4.60 4.80 5.18 7.89
215 | 400 | 800 |3200 |4000 | 15' | 10' 37.5 | 5500 [ 6500 | 91 4.60 4.80 5.18 7.89
450 | 700 | 1300 | 2400 | 3500 | 17" | 12' 29.5 | 5500 [ 6500 | 89 4.61 4.81 5.18 7.89
450 | 700 | 1300 | 2400 | 3500 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.49 4.68 5.06 7.77
450 | 700 | 1300 | 2900 (3500 | 17' | 12 29.5 5500 | 6500 [ 89 4.62 4.81 5.20 7.91
450 | 700 | 1300 | 2400 | 3500 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.49 4.67 5.05 7.77
450 | 700 | 1300 | 3200 {4000 | 17" | 12 29.5 5500 | 6500 [ 89 4.63 4.82 5.21 7.91
215 | 400 | 800 |3200|4000 ]| 17" | 12 29.5 [ 5500 [ 6500 | 89 4.64 4.83 5.21 7.93
450 | 700 | 1300 | 3200 [ 4000 | 17" | 12 29.5 5500 | 6500 [ 89 4.63 4.83 5.21 7.92
450 | 700 | 1300 | 2900 ) 3500 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.52 4.70 5.09 7.81
450 | 700 | 1300 | 3200 [ 4000 | 17" | 12 29.5 5500 | 6500 [ 89 4.60 4.78 5.17 7.88
450 | 700 | 1300 | 3200 ) 4000 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.63 4.83 5.21 7.92
450 | 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.62 4.81 5.19 7.91
450 | 700 | 1300 | 3200 ) 4000 | 17" | 12 29.5 [ 5500 [ 6500 | 89 4.58 4.77 5.16 7.86
450 | 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.61 4.81 5.19 7.90
450 | 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 | 5500 [ 6500 | 89 4.63 4.83 5.21 7.92
450 | 700 | 1300 | 2900 | 3500 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.31 4.50 4.89 7.59
450 | 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 | 5500 [ 6500 | 89 4.61 4.81 5.19 7.90
450 | 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.60 4.80 5.18 7.89
450 | 700 | 1300 | 3200 {4000 | 17" | 12 29.5 5500 | 6500 [ 89 4.60 4.80 5.18 7.89
450 | 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.60 4.80 5.18 7.89
450 | 700 | 1300 | 3200 [ 4000 | 17" | 12 29.5 5500 | 6500 [ 89 4.60 4.80 5.18 7.89
450 | 700 | 1300 | 3200 | 4000 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.60 4.80 5.18 7.89
215 | 400 | 800 |3200 | 4000 | 17" | 12' 29.5 [ 5500 [ 6500 | 89 4.60 4.80 5.18 7.89




MP MB 130

55A1 ... 180A1

172

Z |0y
=i
e}
1 n &3 o
wt o
o8
=y LL i
e
42,5 100
iz |
2 5 oo 1
@ " o8 MPMB 1302 | 54
wl || MPMB 1303 | 58
P MPMB 1304 | 61
* - o L]
M1z _ BT5!_
145
20 175 .
=, | e N | N | N2 | N3 N4 N5
ok D. o max
) 4
55A1 14 [15875| 16 | 19 | - [ - | = | = | = | — | 555 | 1257 | 130 4 M6x15 | 395 | 50
80A2 14 |15875| 16 | 19| - [ - | - | - | - | - | 80 | 100 [ 130 4 M6x15 | 395 | 50
95A1 14 [15875| 16 | 19 | 22 [ 24 | — | - | = | - | 9 | 115 [ 130 4 M8x20 | 395 | 50
110A1 | 14 (15875| 16 | 19 | 22 [ 24 | - | - | — | — | 110 | 130 | 130 4 M8x20 | 395 | 50
110B1 | 14 (15875| 16 | 19 | 22 [ 24 | — | - [ - | — | 110 | 145 [ 130 | 65 | M8x20 | 495 | 60
114A0 | 14 (15875| 16 | 19 | 22 [ 24 | — | - [ - | - |1143| 200 [ 170 | 55 | M12x25 | 39.5 | 50
114A 14 |15.875| 16 | 19 | 22 | 24 | 28 [ 32 | 35 | 38 | 1143 | 200 | 170 | 55 | M12x25 | 69.5 | 80
130A 14 |15875| 16 | 19 | 22 [ 24 | — | - | - | - | 130 | 165 | 140 M10x20 | 395 | 50
130A1 [ 14 |15875| 16 | 19 | 22 | 24 | 28 | 32 [ — | — | 130 | 165 | 140 M10x20 | 49.5 | 60
180A 14 [15875| 16 | 19 | 22 | 24 | 28 | 32 | — | — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 [ 14 |15875| 16 | 19 | 22 | 24 | 28 | 32 [ 35 | 38 | 180 | 215 [ 190 | 55 | M14x25 | 695 | 80

Please contact us for other motor adapters and input shaft bore.




FM

201

D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 M8x15 M6 40 27.5 6 20 145
19 51 113 1255 M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 195 225
32 71 113 1255 M8x15 M8 41 28.5 6 195 245
35 73 113 1255 M8x15 M8 50 37.5 11.25 26 26
38 77.5 113 125.5 M8x15 M8 50 375 11.25 26 28




215 400 800 [ 2100 | 3000 | 15' | 10 43.0 94 5.25 5.46 5.81 7.16
380 600 | 1100 [ 2400 | 3500 | 15' | 10 43.0 94 3.06 3.26 3.61 4.97
380 600 | 1100 [ 2900 | 3500 | 15' | 10 43.0 94 2.22 242 2.77 4.13
380 600 | 1100 [ 2900 | 3500 | 15' | 10 43.0 94 1.19 1.40 175 3.10
380 600 | 1100 [ 3200 | 4000 | 15' | 10 43.0 94 1.47 1.68 2.03 3.38
215 400 800 [ 3200 | 4000 | 15' | 10" 43.0 94 1.04 1.25 1.60 2.95
215 400 800 [ 2100 | 3000 | 15' | 10 375 91 4.82 5.02 5.37 6.72
450 700 | 1300 | 2100 [ 3000 | 15' | 10 37.5 91 4.57 4.78 5.13 6.48
450 700 | 1300 [ 2100 | 3000 | 15' | 10 37.5 91 4.48 4.69 5.04 6.39
450 700 | 1300 | 2400 [ 3500 | 15' | 10 37.5 91 2.67 2.88 3.23 4.58
450 700 | 1300 [ 2900 | 3500 | 15' | 10 375 91 197 2.18 2.53 3.88
450 700 | 1300 | 2900 [ 3500 | 15' | 10 37.5 91 1.94 2.15 2.50 3.85
450 700 | 1300 [ 3200 | 4000 | 15' | 10 375 91 134 155 1.90 3.25
215 400 800 | 3200 [ 4000 | 15' | 10 37.5 91 1.00 121 1.56 291
450 700 | 1300 [ 3200 | 4000 | 15' | 10 375 91 133 153 1.88 3.24
380 600 | 1100 | 2900 [ 3500 | 15' | 10 37.5 91 1.05 1.26 1.61 2.96
450 700 | 1300 [ 3200 | 4000 | 15' | 10 375 91 0.98 1.19 154 2.89
450 700 | 1300 [ 3200 | 4000 | 15' | 10 375 91 0.97 1.18 1.53 2.88
450 700 | 1300 [ 3200 | 4000 | 15' | 10 375 91 0.96 117 152 2.87
215 400 800 [ 3200 | 4000 | 15' | 10 37.5 91 0.96 117 1.52 2.87
450 700 | 1300 [ 2400 | 3500 | 17" | 12 29.5 89 277 2.98 3.33 4.68
450 700 | 1300 [ 2400 | 3500 | 17" | 12 29.5 89 2.65 2.86 3.21 4.56
450 700 | 1300 [ 2900 | 3500 | 17" | 12 29.5 89 2.03 2.24 259 3.94
450 700 | 1300 [ 2400 | 3500 | 17" | 12 29.5 89 2.65 2.85 3.20 4.56
450 700 | 1300 | 3200 [ 4000 | 17 | 12 29.5 89 1.37 1.58 1.93 3.28
215 400 800 [ 3200 | 4000 | 17" | 12 29.5 89 1.00 1.20 155 291
450 700 | 1300 | 3200 [ 4000 | 17" | 12 29.5 89 0.99 1.20 1.55 2.90
450 700 | 1300 [ 2900 | 3500 | 17" | 12 29.5 89 1.93 2.13 2.48 3.84
450 700 | 1300 | 3200 [ 4000 | 17" | 12 29.5 89 1.34 1.54 1.89 3.25
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.99 1.20 155 2.90
450 700 | 1300 | 3200 [ 4000 | 17" | 12 29.5 89 0.98 1.18 1.53 2.89
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 1.32 153 1.88 3.23
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.97 1.18 1.53 2.88
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.99 1.20 155 2.90
450 700 | 1300 [ 2900 | 3500 | 17" | 12 29.5 89 1.05 1.26 1.61 2.96
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.97 1.18 153 2.88
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.96 1.17 152 2.87
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.96 117 152 2.87
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.96 1.17 152 2.87
450 700 | 1300 | 3200 [ 4000 | 17" | 12 29.5 89 0.96 117 1.52 2.87
450 700 | 1300 [ 3200 | 4000 | 17" | 12 29.5 89 0.96 1.17 152 2.87
215 400 800 | 3200 [ 4000 | 17' | 12 29.5 89 0.96 117 1.52 2.87




